Chapter 7 Audit Sampling

Answer 1
(a)

	Audit procedures
	Involves Sampling?

(Yes or No)
	Attribute/Variable

/Not applicable
	Reason

	(i)
Interviewing client employees
	No
	Not applicable
	Inquiry

	(ii)
Scrutinizing accounting records for usual items
	No
	Not applicable
	General procedures

	(iii)
Test of controls over inventory pricing
	Yes
	Attribute
	Test of control

	(iv)
Tests of the amounts of transactions that are not supported by proper approval
	Yes
	Variable
	Estimate monetary misstatement in an account balance

	(v)
Obtaining written representations from management
	No
	Not applicable
	General procedures

	(vi)
Tests of recorded payroll expense
	Yes
	Variable
	Substantive test

	(vii)
Observing cash- handling procedures
	No
	Not applicable
	Observation

	(viii)
Inspecting land and building
	No
	Not applicable
	More economical to check all significant items

	(ix)
Tests of controls over discounts rates allowed to individual customers
	Yes
	Attribute
	Test of control

	(x)
Tests of control over matching suppliers’ invoices with goods receiving note and shipping documents
	Yes
	Attribute
	Test of control


(b)

Analysis of the data shows that total reliability can be assumed only if a 100% of the population is tested.

However, the curve shows that a small test can achieve a relatively high degree of reliability; for example, testing 30% of the population can increase the reliability to 87%.

Beyond testing 30% of the population, additional testing improves reliability by only a very small amount. This is the basic justification for testing in audits.

(c)

Audit risk cannot be eliminated even if the total population is audited because of the existence of non-sampling risk. An auditor may apply a procedure to all transactions or balances and still fail to detect a material misstatement or a material internal control weakness.

(d)

(i)
Inherent risk – this is the risk exists due to the business nature and environment.

(ii)
Control risk – this is the risk that a control system will fail to detect material errors. Assessment of control risk may be based upon the results of evaluation and testing of internal controls.

(iii)
Detection risk – this is the risk that auditor fail to discover material errors when carrying out the audit procedures. Assessment of the extent of detection risk is that the test would fail to detect sizeable errors that had slipped through the internal control system.

(iv)
Sampling risk – this is the risk that sampling procedures will fail to discover errors. This could result in inefficiencies and costly audit work.

(e)

Sampling risk for substantive procedures is part of the detection risk.
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